Machine Learning 15CS73 VTU B.E. 7™h Semester

MODULE 3

l¢ Howa single perceptron can be used to represent the Boolean functions such as AND, OR
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2 J{B Design a two-input perceptron that implements the boolean function A A — B. Design a
two-layer network of perceptron’s that implements A XOR B.
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3. Consider two perceptrons defined by the threshold expression wo + wixi+ waxz > 0.
Perceptron A has weight values
wo = 1, wi=2, wo=1
and perceptron B has the weight values
wo =0, wi=2, wo=1

True or false? Perceptron A is more-general than perceptron B.
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